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For a linear SISO system, how do you find out if the system is time-varying or time-invariant?
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For a linear time-invariant system, is the stability of the system related to the inputs or initial conditions?

(18%) 6. There are two L.T.I. systems. You are asked to compare their “relative stability” by using Routh-Hurwitz
criterion and Nyquist stability criterion. Please explain both procedures in detail, respectively.
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Consider a feedback control system sketched below.
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Find conditions to guarantee the stability of the feedback system for k — .
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